Apply Properties of Quadrilaterals Unit Review		Name:__________________________  Hour:_____
	 Find the value of x in the figure below.
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	Find the measure of one angle in the figure.
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	[image: ]Find JT from the given kite.
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	[image: ]Find the value of x.
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	[image: ]Find YX. 
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	[image: ]Find QP.
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	[image: ]Find m<V.
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	[image: ]Find m<Q.
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	[image: ]Find VW.
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	[image: ]Find XP.
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	[image: ]Find y in the given parallelogram. 
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	[image: ]Find x.
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	[image: ]Find PS.
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	[image: ]Find the value of x.
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	[image: ]Find PA.
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	[image: ]Find x. 
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	[image: ]Find QP.
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	[image: ]Find DU.
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	[image: ]Find XZ given WT = 4x + 3 and YT = 7x - 6
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	[image: ]Find the value of x.
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	[bookmark: _GoBack][image: ]Find m<4.
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	[image: ]Find DC if AD = 3z + 7 and BC = 8z – 3.
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